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Q1: -Find the derivative of the function Alall dida as ) = 1 gY) Jigead)
f(x) =x*+6x%—-2

a) f'(x) =x°+6x3—2x

s 3
fon=nmx~r12y

b) f'(x) =x3+6x—2
@f’(x) = 4x3 + 12x

d) f'(x) = 4x° +x3 — 2x

Q2: -Find the derivative of the function Alal) Agidia da gl = 1 AN ) gaal)
f(x) =sinxcos x

f(;y):C052ACa5j(* >Sin X (-9 »n x)
/ _ 2 P2
a) f'(x) = cos*x + sin“x ﬁ/(%): cos?x Cainlx

b) f'(x) = —cos x sinx

@I’ (x) = cos?x — sin’x

d) f'(x) =sin*x—1

Q4:- Find the derivative of the function Alall 451 a2 ) -zl ) J) gl
f(x) = xe™**

~2R ~2 x
a) f'(x) =xe ?* -1 ]P/C“): .o + X U 2)e

-2 X -2 X
= f —-IXe

I} _ —-2x _ -2X
@ F @ =ea-2v) Y (1-2¢)

d) f'(x) = —2xe™?*

b) f'(x) = —2e7*
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Q5: - If the function Alal) il 1) - 1 oualdd) ) gud)
x*—5x+4
fo) ==——

f"'(x)
-1
a) 1-3 Lox)= X=5+ux

-2
b) x— 5+ Prx)=1-0- Hx

8 » -3
)= p(x)=0 16X

@ 1-2 1ix- &
¥ Z

Q6: -Find all vertical asymptotes of the Aol 1) G E L sl ares da gl = sguabad) ) g
function dal

2x
f(x) =

x2 -1
a)y=0,y=2 VOl o5ympracs

=0

Jx=1x=-1

dy=0

Q7: -Evaluate dagd an gl = zpalaad) Jligud)
1
lim ex

X— 00

) |
lim =
x> o
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Q8: -Evaluate Al aa gl = 1 palil) ) e

a) 0 .
L+~ T X _
b)% KD X * ) ¥

c) 7

d) o

Q9: -Evaluate Ao aa ) - ralil) O gl

(t* + 3)

82 S 50

a) 40

c) 70
d) 312

Q10: -Identify the asymptotes of f(x) () Alall ) o ghad aas - pdilad) ) el
J(x)

a) x=4,y=6
b) x=-6,y=—-4
@x=6,y=4
d x=—-4y=-6
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Q11: -Find g(-2) if CHS 1Y g(—2) ) -1k gdal) Jigad
3x3

g(x)=x2+x—4 WJ\OJJ\)

2 (-1)°

A7) = 3}\{}“

) =

d)9

Q12: - L1 pde AN ) sud)

The dimensions of a playground are adi 3X — 4 Lam ula Al Jia Al
represented by a width of 3x — 4 Faa oAl i) s} 287X + 5 Jshy
feet and a length of 7x + 5 feet. cetlad) Aaloe

-

Write an expression that represents

the area of the playground.

A= L W

a) 21x% — 28x — 20
A= (5x=H) (35
Q' 1x% — 13x — 20

N 21X AVSA ~TEX =2 @
c) 21x2 — 20

) N V%t -\3X~29
d) 21x% + 15x — 20
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- e Gl O gead)

a) 68.7

b) 114.1

Q14: -Evaluate Lo an gl = 1 pde gl ) Jligud)
18

Z(6k _1)

k=4

o) U

b) 846

c) 910

d) 1008
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